AHPHE

S BERIER
Eigy
THE FHBI A0 Hikg - Tk HANL aF 5
LERT | FERL | BL
HEATIE 0. 2mm~ 1. OmmA i m - - 1.25 1.25
. EAK ok A 2R k - - 0.05 0.05 |mAREERN
DU HEAM ViR 2F g REER
fife T
T —NT kg - - 0.13 0.13 |mARE TN
AR [ENERE YN & - - 6.0 6.0
T AR m2 1. 443 - 0.113 | 1.56
K Y=t rs MV
d=50mm m3 0.072 - 0.006 | 0.078 |maREGERWN
Wrim et T N m3 0.072 - 0.006 | 0.078
av 7 ) — bk
BHE y=2.35t/m3 t 0.17 - 0.01 0.18
A D13 (SD345) kg 0.6 - - 0.6
N BRI BER _ B
kR L S Ly m2 51.26 51. 26
FEFED BN « FEIA m2 51.26 - - 51.26 PCBE
PEFEALSY kg 2.51 - - 2.51 PCB& A
]
% s 2 T T®IEH FAHITEZE T A % g e [ m2 51.26 - - 51.26 |#E#ESRAR & (200) g/m2
Re-1II
¢ T®2EH FAHITEZE T A % g e [ m2 51.26 - - 51.26 | KEAESA R :200g/m2
T®3EH FAHITEZE T A % g e [ m2 51.26 - - 51.26 | KEAESA R :200g/m2
ik FEAING 5o FRIEEE | m2 51.26 - - 51.26 | HEUEGRAN R 140g/m2
L% SEAING 5o FRIEEE | m2 51.26 - - 51.26 | HEUEGRANE:120g/m2
AR A & T Ay BUR 2 E— A # - - 1 1 L=3. 3m
AR T 1 T AT 7 v Mk _ _
ShEE T T < 15em m 24. 4 24. 4
oo o T A7 7 v MMlidk _ _
SHEE IR A T = 15em m2 10.5 10.5
Ak .
%Z;EET PHStEiin YL IAN: n3 - - 0.73 | 0.73
U T AT 7 v b t - - 1.72 1.72
ST TE;J%Z?OZ?% m2 - - 10.5 | 10.5
BEED O OO FEET W< 3mm m - - 14.65 | 14.65 0 AR10% % ST
T HRBALA T 7 ) AR
o E‘ I [4Ee = 9 E 7R _ —
O T 75 o 5 AR g 3858 3858




s ER ISR
E
THE B A0 Hikg - Sk HAAL aF 5
T | TEHT | Bk
) 7;§Jﬂiifi’ W=500 H 5 A kil Kbt m - - 122 | 12.2
B kKR E T m - - 13.4 13.4
H #h 1 7k T
=L Y 2 20x50 0 - - 13.4 13.4
Ny 7T v TH 20x50 0 - - 13.4 13.4
AW T S5 SGPSOA ¢ 89. 1, t=4. 2 m 1.12 - - 1.12
S R A %% SGPSOA L=90mm kg 3.16 - - 3.16
SM400 (Hlighsh > &) kg 9.56 - - 9.56
SRR E (8RB
SS400 (Highb > ) kg 5.76 - - 5.76
p— VP75 (2 ) —7 L) m 1.92 - - 1.92
+ T
b HekE VP75 (%) m 0.58 - - 0.58
& VPT545° =R (W) | 2 - - 2
L LHIT ¢ 19. Omm & 8 - - 8
M12x35 8 - - 8
AV ML
M16x50 Z 8 - - 8
Fv NEUET Ty NEUET M24 & - 3 - 3 $5400
. o EHEREABITR A B £ _ - 5 - 5
A5 T [ t=2mm m2 1. 680 1. 680
ey TYPE Al m2 53.6 - - 53.6
PRIt S — MY B TYPE A1~3 m2 53.6 - - 53.6
FER () TYPE B m2 53.6 - - 53.6
i BT v— hoE
PIn% v $ -
B (T TYPE B m2 53.6 - - 53.6
FIEHIR S — b — MR m2 53.6 - - 53.6
A B EB AH 30 - - 30




ARG

¥ EOOb e T
1K%Y
4 g ) =X B =
Obniilis T
1LIEAT OO NEAM (R BHREAM 2 )

OUHONHES 120 mm
EAMOBr AR 37T % LT 5,
W= X EE X FEX X 1100X (1 + 0.37 )
= /VRIEWTE 30mn X 2 mm A LAEE L, v ARIE 3T %&T D,

(BT i

1700 kg/m3 )

(HL

1100 kg/m3 )

W= 0.03 X 0.002 X JEE X 1700 X (1 + 0.37 )
FEAZRIT 250 mm fHRE & 45,

Ei=LEn il HEAM =kt N
15 - o T e | TN
{j% [l]lc'aa @E B/ ﬁgﬁ?ﬁ! = ==N @E [=Q=:N
mm mm mm m3 kg m kg 1
122 (@)
H1 | 0. 20‘ 400‘ 120] 0.000010  0.01 0.40  0.04 2
it 0.000010  0.01 0.40  0.04 2
LEE [ (I ) it 0.000010 _ 0.01] 0.40  0.04 2
TR #EDH HEAM =k o
i - " = | =a g | A
ﬁj% r[]f'aa @E bES = {Z!-(*ﬂ H e @EE H e
mm mm mm m3 kg m kg 1
1228 (K& 1)
WA IRER
Hjl 0. 20 200 120] 0.000005  0.01 0.20  0.02 1
Hj2 0. 20 250 120] 0.000006  0.01 0.25  0.03 1
Hj3 0. 20 200 120] 0.000005  0.01 0.20  0.02 1
Hj4 0. 20 200 120] 0.000005  0.01 0.20  0.02 1
Z 0. 000021 0.04] 0.85  0.09 4
122 (GBim) &t 0.000021  0.04f 0.85  0.09 4

X — U OWTH F & AR E R, EAM OBALAREET T A 7 TR
AR CTOETEEL TS (W2 r 7 2H) |




AP

B EOb e L
14D
E X ¥ =
s OUhIEATIER
1SR (R ) 0. 40
B A1 PR 0. 85
& & 1.25m .25 m
OUHIEA (=R % BHRIEAM 2 )
(m 2ARETr)
1PE M (1) 0.01
WEBE A1 PR 0. 04 0 AREE RN
& F 0.05 kg 0.07 kg 0.05 kg
n ARG
0.07 ke
2%
(m 2ARETr)
1P (i) 0. 04
WA PR 0. 09 o ALRE F A
& F 0.13 kg 0.18 kg 0.13 kg
n ARG
0.18 kg
- AR
TEEIR] (R ) 2
WERE A IR 4
& 6 fi 6 @




ARG

EET WrEEE T fatEE &

1% b

Ed

s

X

% =

W15 1

1. WrimfEE L
(B TR

St

5

- WrmiEE ESORIRY ey 50 mm
18 Mrrm (201 RIR

D-1 A= 0.10 X 0.10 = 0.010
D-2 A= 0.15 X 0.15 = 0.023
D-3 A= 0.15 X 0.25 = 0.038
D4 A= 0.15 X 1.05 = 0.158
D-5 A= 005 X 0.05 = 0.003
D-6 A= 0.15 X 0.20 = 0.030
D-7 A= 0.10 X 0.60 = 0. 060
D-8 A= 0.05 X 0.10 = 0.005
D-9 A= 0.15 X 0.30 = 0.045
D-10 A= 0.05 X 0.05 = 0.003
D-11 A= 0.25 X 0.20 = 0. 050
D-12 A= 0.10 X 0.10 = 0.010
D-13 A = 0.20 X 0.20 = 0. 040
D-14 A= 0.15 X 0.20 = 0.030
D-15 A= 0.15 X 0.15 = 0.023
D-16 A = 0.15 X 0.15 = 0.023
D-17 A= 0.10 X 0.10 = 0.010
D-18 A= 0.20 X 0.35 = 0.070
D-19 A= 0.10 X 0.15 = 0.015
D20 A= 0.10 X 0.15 = 0.015
D21 A= 0.05 X 0.10 = 0.005
D22 A= 0.05 X 0.10 = 0.005
D23 A= 0.10 X 0.10 = 0.010
D24 A= 0.15 X 0.15 = 0.023
D25 A= 0.10 X 0.10 = 0.010
D26 A= 0.15 X 0.15 = 0.023
D27 A= 0.30 X 0.40 = 0.120
A= 0.10 X 0.10 = 0.010

D28 A= 0.20 X 0.80 = 0.160
D29 A= 0.25 X 0.35 = 0.088
D-30 A= 0.10 X 0.20 = 0. 020
D-31 A= 0.10 X 0.15 = 0.015
D-32 A= 0.25 X 0.45 = 0.113
D-33 A= 0.10 X 0.15 = 0.015
D-34 A= 0.25 X 0.30 = 0.075
D35 A= 0.20 X 0.35 = 0.070
D-36 A = 0.10 X 0.20 = 0. 020
/NER = 1. 443

K
K
kA &
K
SR R
SR &
SR &
SR &
kA &
SR &
kA &
K
K
SR &
kA &
SR &
A H
R H
A H
R H
AR H
R H
I
R H
AR H
I
R H
R H
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2 &
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2 &
2 &
AR
KAH




ARG
BB WrmiEE TmfEsE R R
140

EZ B £y % &

- WraEE ESSRIRY ey 50 mm

WIER  Kam (2 02) Hig

D-1 A= 0.10 X 0.20 = 0. 020 V<ic!
D-2 A= 0.10 X 0.10 = 0. 010 V<ic!
D-3 A= 0.10 X 0.10 = 0. 010 V<ic!
D4 A= 0.10 X 0.20 = 0. 020 V<ic!
D-5 A= 0.05 X 0.10 = 0. 005 V<ic!
D-6 A= 0.10 X 0.10 = 0. 010 V<ic!
D-7 A= 0.10 X 0.15 = 0.015 V<ic!
D-8 A= 0.05 X 0.20 = 0. 010 V<ic!
D-9 A= 0.10 X 0.10 = 0. 010 V<ic!
D-10 A = 0.05 X 0,05 = 0. 003 V<ic!
/NEE = 0.113




ARG

EET WrEfEE Tkt E R

12049
£ I B =X % =
IOV ES 50 mm
IR MM (EODEM A = 1,443
& 7t A = 1.443m2 1.443 m2
IOV ES 50 mm
M EE. (CoDHE A = 0.113
& 7t A = 0.113m2 0.113 m2
WriEEEH (R ~—t& A hE/LFZ L)
i T 1. 443 m2
IOV ES 50 mm
i L 0.113 m2
ESORIRY ey 50 mm
W SRR
vV = 1. 443 X 0.05 = 0.072 0.072 m3
vV = 0.113 X 0.05 = 0.006 0.006 m3
2. a7 Y—F | WEREE
O E#EIT = 0.072 0.072 m3
%= 0.006 0.006 m3
3. aryr7U—+r | WEE=R
R AL L ERIN T
a7 ) — NOBAREES = 2.35t/m3
W= 0.072 X 2.35 = 0.17 0.17 t
W= 0. 006 X 2.35 = 0.0l 0.01 t
4. % R ek D13 (SD345)
L (m) (kg/m) 7N
W o= 0. 320 X 0.995 X 2 = 0.6
& EF 0.6 kg 0.6 kg




ZNA

e T

1K%Y

Uas

" 2V

a3
e

FOAT I 2

(1) BAEME (T — R L—1, CH)

MBERR AN A b+ B — A3 - A

3330

E—2A L = 3.3 m
n = 1 b
KR b T30 b LA
R3 R2 i
P NT |
[] [] 5
1500 1500 1500 250)
3330
1221408 R 3224087
f 3-0N40ER R2 |
FERENN (N \‘
7\ S
L 6-18x248R 6-18x24ER v
200 2 o
10 | 1500 | 1500 160




AL
T BB TEEER R

1%
E i o = ¥ B
W Z S - FH#7 EFLG
Tk FLG/E FLG/E
( 0.140 + 0.019 + 0.019 ) X 2.110 X 2 t&Fr = 0.751 m2
A FLG/E FLG/E
( 0.150 + 0.022 + 0.022 ) X 3.687 = 0.715 m2
FLGHE G
( 0.140 + 0.150 )X 0.009 / 2 X 2 & = 0.003 m2
FLG/E B
( 0.019 + 0.022 )X 0.009 / 2 X 4 AT = 0.0007 m2
ERR
0. 009 X 7.925 = 0.071 m2
B = 1.399 m2
1. 399 X 4 Epr (G1~G4) = 5.596 m2 5.596 m2
» M TFLG
BSTA] T FLG/E FLG/E
(0.140 + 0.140 + 0.019 + 0.019 ) X 2.110
X 2 & = 1.342 m2
st} T FLGE FLGE
( 0.150 + 0.150 + 0.022 + 0.022 )X 3. 687 = 1.268 m2
FLGHE 51723
( 0.140 + 0.150 )X 0.009 / 2 X 4 AT = 0.005 m2
FLGE B ERH
( 0.019 + 0.022 )X 0.009 / 2 X 4 &0 = 0.0007 m2
PERR
0. 009 X 7.925 = 0.071 m2
3 = 2.545 m2
2.545 X 4 f&AT (G1~G4) = 10. 180 m2 10. 180 m2
CEH U7
0.432 X 2.110 X 4 &Py = 3.646 m2
0. 429 X 3.687 X 2 fEHpT = 3.163 m2
FLGEI
(0.432 + 0.429 )X 0.009 / 2 X 4 & PIT = 0.015 m2
B =  6.824 m2
6. 824 X 4 fEAT (G1~G4) = 27.296 m2 27.296 m2




A

BT TR &

)
& " = % =
B 2 s - HHMT
_FLG 0.075 X 1.621 X 2 g = 0.243 m2
FFLG 0.075 X 1.621 X 2 fE5p; = 0.243 m2
S 0.150 X 1.621 X 2 f#p; = 0.486 m2
g 0.006 X 1.621 X 2 = 0019 m2
= 0.953 m2
0.953 X 6 fH = 5.718 m2 5.718 m2
i)
0.070 X 0.432 X 2 X 2 fHpF = 0.121 m2
0.150 X 0.432 X 2 X 6 fH#; = 0.778 m2
PO 0.140 X 0.150 X 1 X 6 fEpr = 0.126 m2
PER@  0.088 X 0.140 / 2 X 2 X 6 {4 = 0.074 m2
PER@  0.090 X 0.142 /9 X 92 X 6 {hy = 0.077 m2
= 0.622 m2
0.622 X 3 @Pﬁggqu) = 1.866 m2 1. 866 m2
Z g
140 S
é “ =
o0
170150
- Gt
- EMF LFLG = 5.596 m2
- T FFLG = 10.180 m2
M v =T = 27.296 m2
- MiMT = 5.718 m2
i) = 1.866 m2
= 50.656 m2 50. 656 m2
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A

ST B BE T mEER
1%
AR i o T
W 2 HE
CGHEARE) SRR R 2 K
n = 8 = 8 3
Al = 0.041 X 0.31 = 0.0127 m2
A2 = 0.041 X 0. 20 = 0.0082 m2
A3 = 0.085 X 0. 20 = 0.0170 m2
THEIEDHTY
A = ( 0.0127 + 0.0082 +  0.0170 ) X = 0.0758
XK8FH =1
TA = 0. 0758 X 8 = 0.606 m2 0. 606 m2
IEmEE A-A
[
. 85 140 85 _,
[e 8)
R
Sk A Sk v gl
310 \ 200
A
B-B

85

200

200

11




ZN il

EET xR T AR
15y
E B v O
BIEBE AT
T fw - ARPEN 51.26 m2
HIFEFI AT - BEERE FIBEAR 1ke/FIm2 2RI A2FEE 51.26 m2
FHFREE Ly 51.26 m2
B sy - R 51.26 m2
T®IEH FIAIEAENE T R IR T 0 51.26 m2
(BIRA % R 0> ) (REYELRISAE ) B2 (200g/m2)
TiR2fEH AR A = A X SRR T 0 51.26 m2
(R B Mol ) 52 200/ m2)
T@3EH FHAFITGIEPE = AR % SRR Tk 0 51.26 m2
(R ¥ B el ) 52 200/ m2)
Tk FIVEATE 5 o> T RHIIE B R D 51.26 m2
(R B Mol 1) 1 140g/m2)
k¥ FIEATE 5 o T R E R Rk 51.26 m2
(YR I F R 120g/m2)
PEBEAL 7y
RIS (1ke/m2 2081 % 487E) 2 kg/m2
T&Y R ECUEDA |k 0.14 kg/m2 (i)
R EUED A > b 0.14 kg/m2 (FEE)
MY RET ZOLEREIE TSR 0 Bkt 0.12 kg/m2 (87E)
BBy BT 2 AREIE TSR ) R 0.11 kg/m2 (87€)
2.51 kg/m2 2.51 kg
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A

i S | N

1%
S 5 £V % &
SEE T
ERAEE b T T AT 7 v N 15emPl T
L = 12. 200 12. 200 24.4 m 24.4m
SEEERERE T |7 27 7 L NERSE 15emBL R
e 6. 100 1. 100 6.71
& A 6. 100 0. 620 3.78
10.49  m2 10. 49 m2
B TAT 7 Nk
vV o= 10. 49 0.07 0.73  m3 0.73 m3
LSy TATZ 7 M
W= 0.73 2.35 1.72 t 1.72 t
SdE T T AT 7 Nk
=)= £=70mm
i A 6. 100 1. 100 6.71
& 6. 100 0. 620 3.78
10.49  m2 10. 49 m2

13




BN/

B EZEOObaE L
149
Z 5 = o &
L OUbNFEHL[ ObhFid, GERE(LIT 7 VSRR T v 7 EAM)
HifEslE 3 mm
MERE 70 mm
FREM Or AT 10 % L5, (BAER 1.14 g/cm3 )
V=g X ®E X LR
W= iE X RE X fER X 114X (1 4+ 0.1)
H Felks
ME O w mm | owm | mER
mm mm m3 g
% E
HER (200 FE
J-H1 3.00 800| 0.000168] 210.7
J-H2 3.00| 3,400| 0.000714| 895.4
J-H3 3.00/ 1,700] 0.000357 447.7
J-H4 3.00/ 1,300] 0.000273 342.3
J-H5 3.00 200 0.000042]  52.7
J-H6 3.00/ 1,500| 0.000315| 395.0
J-H7 3.00 600| 0.000126| 158.0
J-H8 3.00] 5,150| 0.001082 1356.2
Fi 14,650] 0.003077| 3858.0
& #F | 14,650] 0.003077 3858.0
OO FEEM (IR T 7 VVRIER 27 7 > 7 HEAM)
IR
MIER (Z.04) i L= 14,65
& &t L= 14.65 m 14.65 m
R
HEX (Z04) K W= 3858
& Ft W= 3858 ¢ 3858 g
e 1HH/360g
B FRE AR
3858 / 360g = 10. 72

1140

14




A

H#ik sk T
1%
4 i ) = % &
H #1k /K T
— hERE T Vv rvary oy il — b (0T A#EER) W=500
JEL SR i L = 6.100 m
&SR] B HiES L = 6.100 m
= 12.20 m 12.20 m
>— LB
(ZEME ) =y) [ AR B
L = 67 n
V = 0.020 X 0.050 X 6.700 X 1000 = 6.70 0
F& A B HiER
L= 67 n
V = 0.020 X 0.050 X 6.700 X 1000 = 6.70 0
iy
L = 670 + 6.70 = 13.4 m 13.40 m
V= 6.70 + 6.70 = 13.4 0 13.40 0
Ny I T T Ny 7T T
TR B HiGE L = 6.700 m
HE U E HiER L = 6.700 m
= 13.40 m 13.40 m
V = 0.020 X 0.050 X 13.400 X 1000 = 13.40 0 13.40 0
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Nl

PEAE A B+ T
140
% R ¥ =
HACEEMET | (1) 72 e T
PR SGPSOA  t= 4.2 mm 4 &P
L = 8.1 X =x X 4 = 12 m 1.12m
(2) fisE & Bk
A% SGP8OA L= 90 mm  t= 4.2 mm 4 & AT AT F R 8. 79 kg/m
W o= 009 X 879 X = 3.16 kg 3.16 kg
(3) #kr  (HEAKE XH4H)
HEAKEE 53 BUSSRAS
B B | ME STk B & %5
1 |- PL| SM400 | 100 X 6 7850 0. ¢ HDZT77
1 |- PL| SM400 | 80 X 6 7850 HDZT77
1 |- PL| SS400 | 80 X 4.5 X 400 7850 HDZT77
2 |- BN| ss400 | M12 x 35 0. 046 0. HDZT49
2 |- BN| ss400 | M16 x50 0.108 0. HDZT49
HEREH S BUE T1E AT A3
HEKE H5y BUE TAt&ipr &3 15. 32 SM400
9.56 kg
$5400
5.76 kg
(4) PEKE
WEEAL e =—/ (VPF)
D HEE VP75 (RU—7HT)
L = 0.64 X3 = 92 m 1.92 m
2) % VP75
L = 029 X2 = 0.58 m 0.58 m
3) 45° =LK (AFE) (JIS K 6743)
n = 2 = 1 2 &
) EMTALENG T
¢ 19. Omm N = 2 = 2 &7
L& FTiE T4 = 2 &P
ATEPITHE T4 = 8 AT 8 AT
) ARV MU
M12 x 35 N = 2 = 2 K
LEFTiE AR = 2 K
AETE TA = 8 K 8 &
M16 x 50 N = 2 = 2 K
LEFTE A = 2 K
AETHE TA% = 8 K 8 &

16




ARG

T FEUE T
140
N B A ¥ o=
Ty MR T
F v b M24 (SS400)
3 1 3
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EN il

AR T
140
4 g B =X # iy
KBS T S RE R T ANEBA R BA K T — 7 3R i
B RE B M A B BB K 7 — 7 B B &
L4 YA R L B NG
1| Em 141 X 200 0.028 16 0. 448
2 | Al 176 X 382 0.067 16 1.072
3|ANMKM 100 X 100 0.010 16 0. 160
& # om M 1. 680 1.680 m2
X TIZES L Cix, BGHEZITV., BEROBRE#HRO EEET 5 2 &,
2. B EARHL TEX
; AL R EB 100x100
D
— ! |
< gl _r A A

50+41+50=141

HEIEE - & EimER

141x200 (30mmEz R EHE)

B EERIE
176x382

50+41+85=176

41+300+41=382

N

(

T <

3i 140

200

{8 @

<t

D
b~ = /|
[aV]
50 200 50
300
FER
=y ;
AR

85| 140 | 85

310

18




A

R I

1% v

% &

2. L RARNL

1) MRS

A =

(TYPE A1) HiEh<l1.5

8.0 x 6.70
(2) PR — MRPG#ERRE (TYPE A1~3)
A = R & R

(3) wEH
A = RSHR & R

(TYPE B :Hl)

(4) BT
A = R L R

(TYPE B : 3 — MRV i)

(5) FBEAIEE T — b
A = RS L R

(3 — bR

TEBE s1:50

& & 8000

2 # & 7960

Xk 7560

S

S

5 @ 1500 = 7500

S 1S

(fi—FL—ILEE)

Al

# 4

6700
6100

g
7
>
77
v
v
s
? v, ///
g
i,

7
s

g

g

S
7
N
0
9 “
s i
7
7
i ////
AP
///

7
//
7
'/
7
7
e
7
%
OIS

i

/
7

v

N\

g T L

T

i

7 5 @ 1500 = 7500

19

Al

2 N X 15 H

53.6

53.6

53.6

53.6

53.6

34N

30

53.6

53.6

53.6

53.6

53.6

m2

m2

m2

m2

m2

30 AH
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